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¥ = 579,000,000

4227 58,506 42,306 16,200 | SHAFR|SIE

SA1H|
EIE U TSR B 35| %500 * 7008 = 1,050,000
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Ald&2|Ate| 3| HelH] 2 M[D[LF2EZHH| 300,000+ 12|, 700,000* 13 = 1,000,000
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ATUBDLEY ARH 7Y 5,000 * 13 5,000,000
e 52 Al Al 7|EF 3,000 3,000,000
Al 2 Za-Tv CF.Z}at 2T Ql etr| 2 80,000,000
27| yzgn 2,000 * 10742l 20,000,000
S U HE2(F0f-et=501) CIZtQl: 10,000, 23 : 5,000 15,000,000
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=2 YA S 20,000 * 1 20,000,000
ON-LINE Z(22{1, &, OIAE} 5,000 * 874¥ 40,000,000
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7|22 1,500 * 23] 3,000,000
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E2| L 240} g (st elstE 2 g) 574+4,000,0008 = 20,000,000
YT EDIA 141%2,000,000% = 2,000,000
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MBIEHENEL
3|18 4EY g s2 HWE 1,000%2508 = 250,000
Malg Y EYIIE 33,000+8% = 250,000
;‘/O’I}/%[EI
2UE 22 S7tE AA| 33,0009 * 2003 = 6,600,000
B A X L EE 7Y 1,000,0008/%103] = 10,000,000
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